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6H25H

6H24H

6H23H

6H22H

6H21H

6H20H
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(23°C)

(24°C)

(20°C)

(20°C)

(24°C)

(24°C)

(20°C)

(27°C)

(28°C)

REE:26KWh HEEH:0. 8KWh

#EE:25. 1KWh H&EEH:0. 8KWh
FEE:24. 6KWh
FHEE:15. 6KWh HEEH:0. 4KWh
FEEE:15. 4AKWh
#EE:23. 1KWh H&EEH:0. 8KWh
FEEE:22. 6KWh
#EE:28. BKWh HEEH:0. 8KWh
5EEE:28. 3KWh
HEE:24. 6KWh HEEH:0. 7KWh
FEEE:24. 2KWh
#FEE:20. 4AKWh HEEH:0. 8KWh

:9. 8KWh HEZEN:1. OKWh
9. 7KWh

#EBEE:13. 3KWh HEEH:0. 6KWh
SEEE:13. TKWh

\

FEE:22. 5BKWh HEEH:0. BKWh
FEEE:22. 2KWh



6HA19H Z#%M™M (25°C) HEE:7. 9KWh HEEH:0. 6KWh
FTEE:7. 7KWh

6H18H = (26°C) #EE:20. 3KWh HEEH:0. 6KWh
FEEE:19. 9KWh

6H178 2 (25°C) FBEE:13. 4AKWh HEEH:1. OKWh
StE=:12. 8KWh

6H16H ™ (20°C) HEE:7. 1IKWh HEEHN:0. 3KWh
5EEE:7. OKWh

6H158 & (22°C) FEE:21. BKWh HEEH:0. 7KWh
FEEE:21. 3KWh

68148 B (20°C) REE:23KWh HEEHN:1. OKWh
FEEE:22. 6KWh

68130 = (19°C) FEE:17. 5KWh HEEH:1. OKWh
FEE:17. 1IKWh

6A12H [ (17°C) HEE:4. 9KWh HEEH:0. 2KWh
SEEE:4. 8KWh

681180 = (22°C) #EE:18. 4AKWh HEEH:0. 9KWh
FEEE:17. 9KWh

6H108 £ (24°C) #EE:18. BKWh HEEH:1. 2KWh

FEE:17. 7TKWh
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6A7H
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6A1H
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(19°C)

(28°C)

(25°C)

(20°C)

(23°C)

(26°C)

(22°C)

(24°C)

(24°C)

HEE:5. BKWh HEEH:0. 5KWh
FEEE:5. 2KWh

T =§ 23. 4kwh JEEEH:1. 2Kwh
E 2. 9Kwh

HEE:26. 2kwh HEEH:1. 1KWh
FEE:25. BKWh

TE:11. 2KWh HEEH:0. 5KWh
EFEE:11. 1TKWh
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FHEE:12. 4AKWh HEEH:0. 7KWh
StEE:12. 2KWh

HEE 26KWh HEEH:1. OKWh
StE=:25. 4KWh

#EE:20. 7TKWh HEEH:0. 9KWh
S5tE=:20. 2KWh

FHREE:24. 1KWh HEEH:0. 4AKWh
FEE:23. 8KWh

12. 6KWh H&TEH:0. 6KWh

RE=:
EEE:12. 4AKWh
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